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QUESTION 1

What is the correct syntax to collect SDDC Manager logs to Amp folder while performing health check? 

A. /usr/bin/sddc-support/sos --api-Jogs --log-dir /tmp 

B. /usr/bin/sddc-support/sos --sddc-manager-logs --log-dir/tmp 

C. /opt/vmware/sddc-support/sos -- sddc-manager-logs --log-dir /tmp 

D. /opt/vmware/sddc support/sos --sddc-manager-logs --Jog dir /tmp --no-health-check 

Correct Answer: C 

 

QUESTION 2

What is required when creating storage policies for vSphere with Tanzu? 

A. Verify that the storage policies are set and will be assigned to the Supervisor Cluster. 

B. Ensure that the reference datastore in the storage policy is shared between all ESXi hosts in the cluster 

C. Verify that the storage policies are set and will be assigned to the Supervisor Namespace. 

D. Ensure that appropriate tags and attributes are added to the datastore 

Correct Answer: A 

 

QUESTION 3

What is the maximum recommended MTU value for all non-management VLANs within VMware Cloud Foundation? 

A. MTU 15000 

B. MTU 15000 

C. MTU 9000 

D. MTU 16000 

Correct Answer: C 

 

QUESTION 4

What isthe advantage of using spwie and leaf underlay network over hierarchical multi-tier topology used in VMware
Cloud Foundation? 

A. It provides greater flexibility especially when scaling out. 
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B. It supports 10 CiB/s connections for ESXi hosts. 

C. It is required to support containers in VMware Cloud Foundation. 

D. It is the only topology supported in VMware Cloud Foundation 

Correct Answer: A 

 

QUESTION 5

What is a valid use case for using multiple clusters in a workload domain? 

A. Sixty-six hosts are required in the workload domain 

B. vSAN is required as a principal storage option. 

C. NFS is required as a principal storage option. 

D. Thirty-three hosts are required in the workload domain. 

Correct Answer: C 
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